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Sample Paper - 3

Multinle Choice Ouestions

1. One of the following is not an advantage of audit
(a) It provides satisfaction for owner

(b) It helps in getting loans

(c) It reduces cost burden

(d) It detects error and frauds

1. AFafaf@a & v HHEToT HT AT AL &
(31) FE TaTHT I TS JeTed B §

(§) F§ ®OT Wifed H QRIS &

() I8 dRTd AR &F Il §

(%) T YTEAT UG HUe HT gl M gl

2. Which of the following is included as a tool for
auditing........

(a) Audit- program

(b) Audit-plan

(c) Auditpolicies

(d) Audit examination

2. 5T & @ hearor AT WA B FaA anfae e
ST ¥

(37) 37oh&ToT HTsha

() 3RETOT At

() 37aneTor Aifaar

(T) 37eheToT ST

3: The term audit originated from a............. word
"audire" which means to hear.

(a) Latin

(b) French

(c) Greek

(d) None of the above

3.M$mﬁtammmau$"m'em#§m
fSrweT merr getar

(31) e

(3) %=

(@) I

(@) 3RFT &H A FIs T80

4. In which country, for the first time statutory
recognition was given to Balance Sheet system and
the auditing

(a) UK

(b) Italy

(c) India

(d) Germany

4. FaUgH fFE o H fgT womel FuT 3rkEtor @Y
denfas AFgar & 7S

(31) T .

() geei

(7)) AT

(&) St=r

5: The auditor has a right to :

(a) To prepare account books

(b) Obtain information and explanations from the
employees and officers

(c) Obtain information and explanation necessary for
the purpose of audit

(d) Both (b) & (c)

5. 3%eTE B HUFR A ¥ :

(37) T GEAh IR el H

(@) A vd AfRRAT & ool Ta FISEHIOT greet
Crofcol

(&) 3HETOT g AT FAAT Td FISERIOT JIed Hlel
Co)

(&) () T4 (@) et &

Solution 1to 5

Solution 1:-
(c) It reduces cost burden

Solution 2:-
(b) Audit-plan

Solution 3:-
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(a) Latin

Solution 4:-
(a) UK

Solution 5:-
(d) Both (b) & (c)

6: Duties of an auditor is covered under which
Section of Companies Act 2013 :

(a) Section 138

(b) Section 139

(c) Section 143

(d) Section 141

6. FF9aAT FARATA 2013 i FiF-H 4T F AHeqid
FFqeAr BT F Fedew AR ¥

(37) &mT 138

(8) grT 139

(@) 4rT 143

(@) &mT 141

7. An statutory auditor's report is covered under
which Section of the Companies Act 2013:

(a) Section 143

(b) Section 140

(c) Section 141

(d) Section 142

7. dnfaw 3dheTd FT1 Yfddes vt yQATAT 2013 &
Fll URT & Ieadiad afEAfad

(371) &mT 143

(§) 9rT 140

(@) 9rT 141

() GRT 142

8. A.B.C.analysis is :/

(a) A system of profit planning

(b) A technique of financial analysis
(c) A technique of inventory control
(d) A technique of profit determination

8. 3, ¥, § farRavor §

(a) T AT fr e ugfa

(b) facdiT faRevur &I U dehelleh
(c) Efaar AIFoT Fr TF ddheltn
(d) STH-FAYROT T Th Teheileh

9. If the original cost is Rs. 50,000. and factory cost
is 50% of the
factory overhead, then the cost of production will
be:

(a) 1,55,000

(b) 1,05,000

(c) 85,000

(d). 80,000

Rs.70,000. and office expenditure

9. IfX FF AWTT 50,000 ¥. TUT FREEAT AR 70,000
5. g U9 ST 99 FRAET 39RAT &1 50% &, ar
3cUTEs AT g

(a) 1,55,000

(b) 1,05,000

(c) 85,000

(d). 80,000

10. According to which of the following methods of
valuation, issuances are linked to current economic
prices?

(a) LIFO method

(b) FIFO method

(c) HIFO method

10. qeha # o wgfadl & @ Fa-@ ggfa &
AR oA 1o 3nfis Aeal @ wFag @ &

(a) owT ggfa

(b) Hrer Tgfa

(c) &y ggfa

(d) #Ra 3ed #ea uefa
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(d) Weighted Average Value Method

Solution 6 to 10

Solution 6:-
(c) Section 143

Solution 7:-
(a) Section 143

Solution 8:-
(c) A technique of inventory control

Solution 9:-

(d). 80,000%.

fear g,

Prime Cost =250,000

Factory Cost =270,000

Office Overhead = 50% of Factory Overhead
Prime Cost = 50,000

Add Factory Overhead = 20,000(Bal.)

Factory Cost = 70,000

Add office Overhead 50% of factory Overhaead
(20,000 x 50%) = 10,000

Production Cost or Cost of Production = 80,000

Solution 10:-
Ans : (a)

et feTeer B A (LIFO) Tefd & 3faR feiwer Y Sey arel wmevel &7 #jewr are], nfie et & woag grar
¢l 38 R & e a1 & %7 H1 78 AHA F AT ggel 6Ar Sirar B, Sed a1 #ed e e

qed ¥ & drdg Bl gl
3a: AFed (a) TE 3R &l

11: Which of the following is the final stage of
accounting as a process of information?

(a) Analysis and interpretation of information

(b) communication of information

(c) Recording of figures in the books of accounts
(d) Preparation of summary in the form of financial
statements

11: Peafaf@a & & i ga=mit 6 ok & w7 &
AGha FT Hfedd TIoT 77

(a) HIATHT 1 faeawor va e

(b) T3 T FEITOT

(C) or@m qEchi H 3TohsT T JHTFATA

(d) e ARt & §9 & IR S AR
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12. Which of the following is not a function of
accounting :

(a) Keeping systematic record

(b) Protecting properties of business

(c) Maximising the results

(d) Meeting legal requirements

12. Fafaf@a & @ Fia-a1 d@HA F1 1 ¢ §-
(a) cHafyd 3@ I@aT

(b) cFaarT T IRFFTTCTAT P GRI&TT W=

(c) IROMAT &l AfARAHA FEAT

(d) SIefelr HTARABATIN T UTelel AT

13. What shall be the amount of Shareholders fund,
Rs. 16,00,000, 8%
Preference Share Capital is Rs. 2,00,000, General
Reserve Rs. 73,000, Profit and Loss
balance (Cr.) Rs. 41,000, Preliminary
Rs. 2,000, and Short-term liabilities

(a) 15,00,000

(b) 18,94,000

(c) 19,14,000

(d) 19,34,000

if Equity Share Capital is

account
Expenses.

13. Rs. 30,000 3eremiyat i Afer & afdr #ar @eft, afe
AT A YSi-16,000 T 8% vAIEFNr I gSh
2,00,000 ¥. WHAT G 73,000 T. AT g @AT AW
(+f8T) 41,000 . YRAF =qT 2,000 F. T FeqahrelsT
arfifca 30,000 %. ¥ |

(a) 15,00,000

(b) 18,94,000

(c) 19,14,000

(d) 19,34,000

14, Only personal and real accounts are shown in:
(a) Trial balance

(b) Balance sheet

(c) Profit and loss Alc

(d) Trading A/c

14. Had AfFaId T JYT IdfaF T @ 9 §
(a) dede H

(b) 3 g &

(c) meT-gIfer @ &

(d) YR @ra A

15. A sole trader introduced fresh capital during the
year Rs. 10,000 and his drawings were Rs. 4,000. If
the profit of the year is Rs. 3,000 and the closing
balance of capital is Rs, 40,000, then the balance
of capital at the beginning of the year will be

(a) Rs. 21,000

(b) Rs. 31,000

(c) Rs. 41,000

(d) Rs. 28,000

15. TF THEH AR F 9§ F SR 10,000 F9F
AT Yt OIS TUT IHHT IATEOT 4,000 FUAT 47| A A
FT @187 3,000 %. TUT Yolt @I FT 3w AW 40,000 3.
¢ af & yrEw H qelt @ 1 AY gem:

(a) Rs. 21,000

(b) Rs. 31,000

(c) Rs. 41,000

(d) Rs. 28,000

Solution 11 to 15

Solution 11:-
Ans : (b)
AWIhT F WUT F AFAfaf@d &7 & forg 51 Tohar &
TEI3/ AT T oleT-SeT
J

STelel GEchi H om

2
Qrareer #§ Qrdr @relelr
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3t fergr

aTeT-giel foraster @rar
Wﬁiﬂﬁ%ﬁwﬁﬁaﬁﬂﬁ
W;ﬁwwﬁrw

S ot

Tose ¢ o & o fashoul 7 FEAI3M & FFIGOT AWieheT HT HfedA =TT §

Solution 12:-
(c) Maximising the results

Solution 13:-
Ans.(c): 18,94,000
Solution:- 3reamRAT & A Fr 0T T gR g
HAT 37 Yoll + YA 372 ol + AHT HF + offef gifel AW (cr)- YRIFh a3
=16,00,000+2,00,000+73,000+41000-2000
18,94,000 37eremdy fafer

Solution 14:-
Ans. (b) : 3fd® g & Faa fFded @T vd IEAfas WA & AV & @RT a1 § T SIUR TF areT gifal
I & 3Heddld aEdides TId U ATHATT & WTd $l QT Srdr gl

Solution 15:-
(b) Rs. 31,000

16. When an existing company offers its shares for | 16. 5@ fGIAT FFust 9=t Rggame srerarfAt #r
sale to the existing shareholders, it is known as: e & AT #1 yTarg g &, Y 3 FEa § -

(a) Private placing (a) TIshr (I18de Telfda)

(b) Bonus issue (b) SteTd foeTe

(c) Rights issue (c) PR A (T3TH 327)

(d) Offer for sale CREERESREGIE]

17.. X and Y are two equal partners in a firm. On | 17. T& & & X 3R Y A= @R &1 1.1.2021 &
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1.1.2021 they admitted Z on the condition that he
will bring Rs. 10,000 as capital and Rs. 5000 as
good will. In future they will share profits in the
ratio of 1:1:2. The proportion of goodwill distribution
between X and Y will be:

378 Z FY 39 ad W v fewr fF aw oot F v A
10,000 ¥. JuT TIIfd & ® & 5,000 9w srisq &
3oTeT ameT-g1fr fastreter areqara 2:1:2 gl x 3R Y F
dr wfar @1 Remesr fFw seqara & g

(a) 1:1

(a) 1:1 (b) 3:1

(b) 3:1 (c) 1:3

(c) 1:3 (d) 2:1

(d) 2:1

18. A minor 18. U sAETfereT

(a) can become a partner in a fim like other partners
(b) can be admitted as a partner in a firm only for
sharing profits

(c) cannot become a partner in a fime

(d) is removed from partnership of a firm the fim
makes a loss

(a) 3T TBERI & AT Th B H TSIER & IHhdl &
(b) T BH H ABIER & T H JAA FT Tohdl § dhadl
SITeT ST 3727 YT dkad & folU|

(c) T ®H H TSGR gl g TehdT|

(d) T ®H FH ARG & T ATl § TG FH H glfel
g 8l

19. A, B and C are partners. They admit D as a
partner and guarantee that his share of profit shall
not be less than Rs. 20,000 p.a. Profits are to be
shared in the ratio of 4 : 3 : 3 : 2 respectively. If
total profits for a year were Rs. 96,000, A's share
of profits will be

(a) 30,400

(b) 32,000

(c) 33,777.78

(d) 24,000

19. A, B 3R C ®BigR §1 & D &I ¥R & & #
fAe fFd I § 3t 3@ IRE & § & 39F ey F
fe=ar 20,000 5. 9foay & & o geml a9 FT QAT
FAA: 4:3:3:2 F Hequra A FFAm M| Ay ww A @
el @7 96,000 %. € A A F IS FT IHer g -

(a) 30,400

(b) 32,000

(c) 33,777.78

(d) 24,000

20. Premium received on the issue of shares is
shown in :

(a) Debit side of Profit and Loss Account

(b) Credit side of Profit and Loss Account

(c) Assets side of the Balance Sheet

(d) Liabilities side of the Balance Sheet

20. 37er foetAaT W yed DA F @ s §-
(a) oM Bl WA & ATH & &

(b) oM BT WA & AT Y& H

(c) 3R RE & af¥ca & vaT A

(d) 3w g & afdca 9a1 7

Solution 16 to 20

Solution 16:-

Ans. (c) : I HFTT 30T & fIhT FT I TITAH FFTall ASTATT FAAT AURT FI FAT g, ar ATURR 3720t

F1 T Fea &1

Solution 17:-
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Ans. (C) : X AR Y & &g T T deaRT 3ofeh ANT & eIl H gIam|

QRAT 31T = 1:1

oTAT 3dTd = 2:1:2

T &l AAITT=RTAT I (-) AAT HTdTd
Pl Pl Pl 9

Solution 18:-

Ans : (b) U FAIfelh Teh ® & AIFEGR & & H YA H Hehcl § We] dg haol AT I 3 HT YIS Fal I

TPER g gl

Solution 19:-

Ans. (a): a¥ & oeT &1 TR F A & oeT &1 34U 30,400 g

Hint- {32,000 (-) 1600} = 30,400/-

Solution 20:-

Ans. (d) : 30T & fAHEA 9 gred NAIH v Golord ifeq gieh g1 3rc: 38 3 Rg & afi¥ica vaT & w9

foe s & aga fe@mar sar gl

21. A, B and C share profit and loss in 2:1:1. The
debit balance of partner C's capital account after
sharing the loss realisation is Rs. 12,000. Is. If C
becomes personally insolvent, the debit balance of
his capital account shall be written off - (Garner v
Murray The rule does not apply)

(A) Equally by A and B

(B) By A and B in 2:1

(C) In the ratio of capital by A and B

(D) Profit and Loss Account

21. A, B @ C 2:1:1 & amsr-gifa &1 R{eomeer ava &)
agell i FIfA F dieet F 91 WHER C F YN @i Fw
3fae A¥ 12,000 %. & I C AiFdsrd v @ fafoan
B ST § &t 3E 9ot ' & sfae Aw swfaf@e frar
ST - (IR 97 A

s oy 7 @ § 1)

(A) A @ B & ZaRT sRIER-sRT&

(B) AT B & garr 2:1 &

(C) A @ B & &anr Ysil 3equrd &

(D) wIe-gTiel Wi gdRT

22. Amar and Akbar are equal partners. Their
capitals on the date of dissolution of the firm were
Rs.60,000 and Rs. 80,000 respectively.. There was
a cash balance of Rs 1,12,000 after selling the
properties and paying the liabilities. The amount of
profit or loss on realization will be—

(A) 28,000 (Profit)

(B) 52,000 (Profit)

(C) 32,000 (Profit)

(D) 28,000 (loss).

22, 3T T AP ST & TEIER &1 B & Qued 6
fafyr & 3ahr Ieft Farer: 60,000 %. T 80,000 T. & |
Fufeaal 1 9 aUT A FT $FAT FA F TN
1,12,000 & $T g AY AT | IHA W g qrell o187 A7
gifer i ufr gt -

(A) 28,000 (cTeT)

(B) 52,000 (we)

(C) 32,000 (1)

(D) 28,000 (grfeT)

23. Filling up of higher posts in organization,
through promotion of existing employees
is known as

23. #AlSET FAANAT 1 gelafa & ATIH F WsA A
39 UGl HT HTA FT UFHAT Fgard
(a) Scaer (aed) arcft
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(a) Direct Recruitment

(b) Indirect Recruitment
(c) Diagonal Recruitment
(d) External Recruitment

(b) 3T9cTeT 1T
(c) faar ercif
(d) srEg &7t

24. Which one of the following gives the correct
meaning of co-ordination ?

(a) Specialization of the task among the groups.

(b) Avoidance of overlap.

(c) The separation between staff and line activities.
(d) Establishment of organization outside the control
of the chief executive.

24. . TFAfaf@a # @ #9091 v FATT FT T JYF
aar 87 ?

(a) GG & ALY HH FHT fAfATCHIOT

(b) RER-cTATTA A FAT

(c) T T olfSeT IMATATEGT T JUereror

(d) HET HRGUTS & @IT0T § e FISo I TATAT

25. Who among the following thinkers emphasized
that the
organisation"?

co-ordination is first principle of
(a) George Terry
(b) J.D. Mooney
(c) Luther Gullick

(d) Chester Bamard

25. fAF=ifea & @ Fw aR® & 39 a9 W K &
F T, e &1 yuH RAgia 2

(a) ST

(b) & T

(c) oW ferh

(d) JEeT TATS

Solution 21 to 25

Solution 21:-
(B) By A and B in 2:1

Solution 22:-
(D) 28,000 (loss).

Solution 23:-
(b) Indirect Recruitment

Solution 24:-
(b) Avoidance of overlap.

Solution 25:-
(b) J.D. Mooney

26. Which one of the following is not a
characteristic feature of formal organization
(a) Social Relationship

(b) Unity of Command

26. fArafaf@a & sl v sitvaRes d@eT
fyerwar (avator) €t ¥

(a) FHATGIS FFaey

(b) 3TTEer &Hr ThAT
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(c) Delegation of Authority (c) Fcdl Rl TcATATSTe

(d) Clear Division of Labour (d) TISC HHA-TAHTSTA

27.Which one of the following is not considered as | 27. fasstifhad & @ FIa-41 TFH, WIS T HURSA e
a basic element of organization? STET AT ST 82

(a) Purpose (a) 362

(b) Process (b) gfshar

(c) Authority (c) wifEeR

(d) Person (d) =afaa

28. How many principles of organizationhave been | 28. wel. 3f¥%& garT Wrea & fhast Rgea yfawea
propounded by L. Urwick? Ry ™ &2

(a) Five (a) 9ra

(b) Six (b)

(c) Seven (c) |1

(d) Eighi (d) 37>

29. Which one of the following is not a determinant | 29. fFifhd & & FiT AT v AF==or AT AT FT
element of the limits of Control? R dca €T & 2

(a) Work (a) FT

(b) Time (b) GHIT

(c) Place (c) &I

(d) Subordinate (d) 3rehaAEy

30. Gracunas formula' is associated with which 30. YFard F A fAraifra & ¥ By wrea F e
principle of organization among the following? ¥ gFafeud g ?

(a) Hierarchy (a) gcaEaTH

(b) Span of Attention (b) &aTeT FT &F

(c) Unity of Command (c) 3TSer & Tehdr

(d) Division of Work C)EICREEIED]

Solution 26 to 30

Solution 26:-
(a) Social Relationship

Solution 27:-
(c) Authority

Solution 28:-

(d) Eighi

Lyndall Urwick identified Eight principles of Administration to all organizations.

The principles are:

1. The principle of objectives, that the organization should have a clear goal.

2. The principle of correspondence, that the authority and responsibility should be equal.
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. The principle of responsibility, that the superior is absolutely responsible for the work of subordinates.

. The scalar principle that a pyramedical type of structure is built up in an organization.

. The principle of specialization, that the limiting one’s work to a single function.

3

4

5. The principle of span of control
6

7. The principle of coordination
8

. The principle of definition, that the clear prescription of every duty.

frzer 33R@® ¥ ¥ Horoat & AT g & 3 RAgiar fY ggE H

fagia &

gFor & 379 1 RVeia

H=aT &1 f&gid

aRsTeT &1 fagid, & & Fdey @1 Fose faaron|
Solution 29:-

(d) Subordinate

® N o bk wdhd -

Solution 30:-
(b) Span of Attention

32T T {gid, fF T & T TASC &g gieT A1’

gAraR & fgd, & 3ffer 3R SFAgiy A gl afigul

el &1 fgia, & seieedt & &3 & faw alkve gt @@ @ fSFAeR &

Thek Agid & v W96 # U UIsARHd YhR T EIGAT T AT fhar Jrar g

FAYFATT &1 AT, & FA & F1H A T & FT g AT FET

31. Three partners X, Y and Z divide profit and loss
in 3:2:3. Their capital as on 31st December 2021
was Rs.10,000 respectively. (cr.), Rs.5,000 (cr.) and
Rs.6,000. (Dr.) is. 'Z' becomes insolvent. Insolvancy
losses will be divided into X and Y - (Garner vs.
Murray rule applies.)

(A) in the ratio 2:1

(C) in the ratio 1:2

(B) in the ratio 3 : 2

(D) in the ratio 1:1

31. X, Y 7 Z et amsier amH-gifer 3:2:3 & Rsnfoa
FId &1 3 Goft 31 Rweaw 2021 : Faa: 10,000 .
(cr.), 5,000 %. (cr.) g 6,000 &. (Dr.) g 'Z' fearfer &
SiTar g1 Rarfedue fr gifd Fr X 7 Y & fer s
SR - (AR a1 AL FH7 @y @ ¥ |

(A) 2:1 & 3reyaret #

(C) 1:2 & 3T

(B) 3:2 & 3reyaret A

(D) 1:1 & 3rJdTd

32. The two factor theory of motivation has been
propounded by the scholar

(a) McGregor

(b) Herzberg

(c) Maslow

(d) Peter Drucker

32. H#fARoT # gRueF Rigia v Rgae g@rr
yfawfea R aram §2

(a) AFIR

(b) gotea

(c) FHaei

(d) drex g
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33. Which one of the following theory of motivation
has been given by A.H. Maslow?

(@) Theory X and Theory Y

(b) Two factor Theory

(c) Need Hierarchy Theory

(d) Carrot and Stick Theory

33. AFAifFa & @ FiF 1 e FAWOT F1 Rgea
T.Ue. Aver ganr fm mar g 2

(a) Rgrea X aar Rgea Y

(b) i gew Rged

(c) 3TaIHAT Yea gl

(d) MR a1 &3 [ged

34. Who among the following has been main
propounder of the Human Relations Management
Theory of Organisation?

(a) E.W. Taylor

(b) Elton Mayo

(c) Chester Barmand

(d) William Dickson

34. AFAfAf@T & ¥ #i9 GIea § AT FFET Rgia
FT HET JOIT @T ¢ ?

(a) Uh.3e0y, ToR

(b) Tees AT

(c) ITX A

(d) s Reaa

35. Which one of the following is not a type of
communication in administration ?

(@) Downward communication

(b) Upward communication.

(c) Sideward/across communication.

(d) Parallel communication

35. @FAifFa & @ FiT W1 vH gAHA F FEAVOT FHT
YHR A& &2

(a) 34T TOR

(b) F& FER

(c) 3rAUTed FAR

(d) AR TIR

Solution 31 to 35

Solution 31:-
(A) in the ratio 2:1

Solution 32:-
(b) Herzberg

Solution 33:-
(c) Need Hierarchy Theory

Solution 34:-
(b) Elton Mayo

Solution 35:-
(d) Parallel communication

36. Henry Fayol stated that top management is
responsible for the performance of 5 important
functions. These were

36. T AT F FeT fF o yawr 5 Agecaqot FF
oo & & Y PFeR aar 81 T &
(a) AISTAT, IS, FAGET, AT g fAF70T
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(a) Planning, organization, command, co-ordination
and control.

(b) Policy-making Planning management,
communication and reporting

(c) Organization, budgeting. Public relation,
administrative reform and delegation

(d) Decision-making, delegation. planning. co-
ordination and control

(b) ANA-AATOT, AT YaEr, TIR T widdesT
(C) TS, Sole, STel §eFUeh, YATeh UR d Fedrdisiel
(d) FoTT-fAATT, g, e, FeaT g T

37. Who among the following thinkers has given
'One Best Way of doing work in the organisation?
(a) Henry Fayol

(b) F.W. Taylor

(c) Elton Mayo

(d) Willoughby

37. AFaifFa # ¥ 59 AR F Gored & 1 FA &
TF § Fafead aOF AT 2

(a) &= ler

(b) UF.3eey, ToR

(c) UeesT AT

C)REGIED

38. When company reserves part of its capital to be
called up at the time of winding up, it is known as:
(a) Reserve Capital

(b) Capital Reserve

(c) Uncalled Capital

(d) Subscribed Capital

38. I FFYeA HUA Yol FT TF AT FANGA & FAL
At & fv T[T &7 ad T @ 5@ Fer S -
(a) | air

(b) Ysiard &

(c) Jmarfad gsir

(d) 3ifFecd geir

39. Which of the following is not a capital reserve?
(a) Premium on issue of shares

(b) Profits prior to incorporation

(c) Dividend equalisation reserve

(d) Reserve created out of profit on the sale of fixed
assets

39. farifrd & & Fi-wr Gt w=ww 7t 872

(a) 372 & foeTEsT o hfags

(b) HATASH & qd T o1

(C) THTL HHTAIHRIOT FaA

(d) Fmly wFafed & fasha & gu ane & AT d==

40. Secret Reserve in a concem may be created by
(a) undrvaluing the fixed assets

(b) treating revenue as capital expenses

(c) undervaluing the liabilities

(d) treating capital income as revenue income

40. U WEAT H o7 FIT FT oA HAT ST FHaT §
(a) FFafcadl T &H Hediched Hlh

(b) 3T TFAT T YSIEIT SqT A

(c) eIl @ FHA Hed W @t

(d) Goferar 3T &l AT 3T AT F

Solution 36 to 40

Solution 36:-

(a) Planning, organization, command, co-ordination and control.

Solution 37:-
(b) F.W. Taylor

Solution 38:-
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(a) Reserve Capital

Solution 39:-

(c) Dividend equalisation reserve
vt TRt Y it werr et S ¥

- 37T & e W hfEas

- HATAS & Yd I AT

-FUrY gFafed & AT & o

=372 & 0T JUT RIHT & 9l &X0T Wi H a9 AW [fA

TSI HATAIRIOT He, M-I W & FISAd gir g 31T Ig AT Fa &

Solution 40:-

Ans : (a)

T HEYT H Iod FIT F Golol e fafer @
g &

1. gedfcadl &1 %a Hod W @

2 A g & YA FHh

3. aIf¥cdl &t 31t Hew @ e

4. TaTfd 3 3L, HEdfcddl I AW &Y

5. AT AT Fl Yoo T AR

6. 31T AT eI HON HTERThcT & TR Folel  HaAT|

41. Which of the following is a deferred revenue
expenditure :

(a) Expenses incurred for the formation of company
(b) Expenses for providing one more exit to a cinema
hall to comply with government rules

(c) Legal expenses for acquiring a property

(d) Heavy advertising expenses for capturing a
position in the market

41. PFafaf@a & a9 a1 3vafa swew g

(a) FFU=lr & AT F fov few v Ty

(b) TIHRY ATAT FT UTeled I & o veh {SaAT gler &
U 3R AFRT gaR dellal F1 T

(c) T HFafed 9Ied &%l & U Hleit ag

(d) STOIR & TUT A1 & forv fohar s 9y faarder
<

42. Average profit of a firm is Rs. 40,000, Its total
" assets amounted to Rs. 4,00,000 and its liabilities
to Rs. 1,00,000. If return is similar firm is 10% on
capital employed what will be the value of good will
of this firm:

(a) Rs 2,00,000

(b) Rs. 4,00,000

(c) Rs 1.00.000

(d) Rs.3,00,000

42. et @ &1 3ited amr 5. 40,000 B, FWHT FA
Hufeaar 5. 4,00,000 Tt &fde@ %. 1,00,000 ¥ X
3 yHR A AT F qgFT gt W 10% WA BT §,
A W BH FT ST FT Hed FIT M7

(a) Rs 2,00,000

(b) Rs. 4,00,000

(c) Rs 1.00.000

(d) Rs.3,00,000
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43. Cost, salvage and useful life of an asset are Rs | 43. fvdll weufeq & amra, rafdse Ao qur Frbefer
10,000, Rs. 1,000 and 3 years respectively. The | SfiasT ®&2er: 10,000 %., 10,00 ¥. duT a¥ g 9¥H a¥
amount of depreciation as per sum of the years | &, ¥Fufed 9 a¥ Inr AT qaw g i oY geh

digit method for the first year will be (a) Rs.5,000

(a) Rs.5,000 (b) Rs.4,500

(b) Rs.4,500 (c) Rs.3333

(c) Rs.3333 (d) Rs.3,000

(d) Rs.3,000

44. Depreciation represents a decrease in : 44, g frae cofar §-

(a) Market value of fixed assets 1§ grafeadl & d6R #ed #

(b) Market value of floating assets ol HFfeadl & SOR Hed H

(c) Market value of debentures issued ffAa wordEt & SR Aew A

(d) Book value of fixed assets U GrEafcadl & qEaehd qed A

45. Which of the following statements is true 45. AT U9 =YY WA F FFEy A AFAfRa & ¥ s
relating to Income and Expenditure Account? T 9Fd<T TE 82

(a) It begins with adebit balance (a) g 3fdc AV & URFH BT &

(b) It is a nominal account (b) IE TH ATHAT ST W gl

(c) It is prepared to ascertain financial position of the | (c) 38 T¥aT &1 facda ufa ad &= & O samr
concen ST &

(d) It is prepared by all profit making organisations (d) 38 T SATTSTT T aTell TEUR FATCHT &l

Solution 41 to 45

Solution 41:-
(d) gfaeTef SO & 39T TU T & v o o fhar = iy oo 3T 3merd e &1 Aoft & 37ar
gl

Solution 42:-
(c) Rs 1.00.000

Solution 43:-
(b) Rs.4,500

Solution 44:-

(D)

Hint:- TRl FFafcadl & HoT # T # e, ¢ g, Ieelel il AT FHI il gl A glol dToll HaAT T &
I el STl 81 BT Hel & Foeetl TAR U9 HT F&dfcadl giar § o 7 3eurl a1 3nqd @ofcd 4l

Solution 45:-
(b) 3 UG Y WIAT Uk ATHATT & Wil gl Tg IR-cIIIRE FEAIT GarT dIR fhar Srar g
R AR TEAT FT HTT 3T [T Yeld AT 7 ATl e |
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46. A debenture holder gets:
(a) dividend

(b) right prescribed in articles
(c) ownership of the company
(d) interest at fixed rate

46. TH T UT URF H Aadr §
Y GIEIN

(b) urde edfeiad & ITAR AR
(c) FFYAT H TaIfAT

(d) R & & sarer

47. The director of 'M' Ltd., resolved to forfeit 2,000
equity shares of Rs. 10 each Rs. 7.50 per share
paid up for non-payment of Final call of Rs. 2.50
per share, 1,000 of the forfeited shares were
reissued of Rs. 6 per share fully paid up. Capital

Reserve Account will be credited by

47. wA. fd. & "aras & 10 3. gr 2,000 FHAT 3HAY
FN STed H H gE&ad g fRar, w9 7.50 5. ufa
39T ged 3 2.50 T. yfar arer &y ifaw graar e o
oo fFd a3 et F & 1,000 3w 6 %. wfe 3ver qoieed
W g fifa R o3 9l g @rar gasfaa g
|

(a) Rs. 3,500 (a) Rs. 3,500
(b) Rs. 7,500 (b) Rs. 7,500
(¢) Rs. 9,000 () Rs. 9,000
(d) Rs, 11,000 (d) Rs, 11,000
48. Redeemable preference shares of Rs. 2,00,000 | 48. 2,00,000 ¥. ¥ e TAITUFR 3T F1, TF AT W

are redeemed at par for which purpose fresh equity
shares are issued for Rs. 80,000 at 10% Premium,
The amount be transferred to Capital Redemption
Reserve Account would be:

(a) Rs. 80,000

(b) Rs. 1,20,000

(c) Rs. 2,00,000

(d) Rs. 1,12,000

M 1§ e AT 80,000 3. & AT HAT IFA
10% YeItell WX oY fFw e &) &l alue w@= @
# 4aUfY gFdleaRd 1 -

(a) Rs. 80,000

(b) Rs.1,20,000

(c) Rs. 2,00,000

(d) Rs. 1,12,000

49. X, Y and Z share profit and losses in the raito
of 5:3:2 Z retires and his share is taen by X and Y
in the ratio of 1:2. The new profit- loss sharing ratio
between X and Y will be:

49. X, Y 3 25:3:2 # wmer-gifar @i §1 Z g
TAEOT FAT § AR 3AF RE F x IR Y 1:2 F e
HAAQE X TUTY FT FAT AT FeoT a1 g
(a) 17:13

(a) 17:13 (b) 11:7

(b) 11:7 (c) 10:7

(c) 10:7 (d) 6:5

(d) 6:5

50. Given: 50. fear §:

Sales - Rs. 2,00,000 f¥shr 2,00,000

Gross Prifit-25% of cost Hehel AT SIETd T 25%
Stock velocity - 3 months Fers afa 3 AE

Closing stock is Rs. 2,000 more than the opening
stock.

HedH FEF TRIAF & @ 2,000 3. 30F g
T g ?
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Purchase are ? (a) Rs. 1,50,000
(a) Rs. 1,50,000 (b) Rs. 1,60,000
(b) Rs. 1,60,000 (c) Rs. 1,62,000
(c) Rs. 1,62,000 (d) Rs. 1.72,000
(d) Rs. 1.72,000

Solution 46 to 50

Solution 46:-
Ans. (d): T FUIT 4RSF H ARTd g3 & sarar fAerar &

Solution 47:-
(a) Rs. 3,500

Solution 48:-
(b) GoiT 2MEeT T W H gEAl=cI R WA (2,00,000 - 80,000) = 1,20,000 %. |

Solution 49:-

(a) 17:13

Hint

Old Ratio

5:3:2

X receives 2/10 x 1/3 = 2/30
Y receives 2/10 x 2/3= 4/30

X new = 5/10 + 2/30 =17/30
Y new = 3/10 + 4/40 = 13/30
AT E

Solution 50:-

(c) Rs. 1,62,000

51. What is the full name of CIET! 51. mafaf@a & @ Ngsd &1 @ aw w2 &
(a) Central Institute of Educational Technology (a) seara Afares dlefAhr gearT

(b) Central Institute of Educational Telecast (b) Fearx AfaTF THRUT FEUT

(c) Composite Institute of Educational Technology (c) g Afarew dieAfAhr Feart

(d) Common Institute of Educational Technology (d) T Afds b e

52. The three focal points in education are 52. fem & e Fow faeg FleT w7 § -2

(a) Students. Teachers and Parents (a) Tramdf, fRIeTs T ATAIACT-

(b) Students. Teachers and Siblings (b) TRremeft, RreTr Tor sSafe=-

(c) Students, Teachers and Educational Technology (c) Tramelf, freter Tar Afars S
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(d) Students. Teachers and Subject Matter

(d) Rremreff, Riarer Fur AvIaE]

53. Linear programmed instruction is based on the
ideas of which of the following:

53. Y&iT IferwiAa s Peafara & ¥ R
feRY T 3rafia &7

(a) Edward (a) Tsas

(b) Gilbert (b) Frerec

(c) Pavlov (c) 9rderra

(d) Skinner (d) ek

54, Which of the following is a type of 54, AFAfaf@a & ¥ Fi9 @1 v @AAT arg 3URET
Constructivism approach ! THR §:

(a) Social (a) GTATSS

(b) Critical (b) FHATATTATCHS

(c) Emotional (c) HAIMcHS

(d) Moral (d) =ifas

55. Self-assessment is based on which of the
following principles?

(a) Behaviourism

(b) Cognitivism

(c) Constructivism

(d) Pragmatism

55. Fafrafaf@a & ¥ Fad Aeaiwa- g ®
TR §:

(a) cgagRdlq

(b) HTaTE

(c) faATUTETE

(d) SRYSTeTaTE

Solution 51 to 55

Solution 51:-
(a) Central Institute of Educational Technology

Solution 52:-
(d) Students. Teachers and Subject Matter

Solution 53:-
(d) Skinner

Solution 54:-
(a) Social

Solution 55:-
(c) Constructivism

56. The Report "Learning without Burdon" was
proposed by which of following committee
(@) Ram Murti Committee

56. IR FMIHEAFRT & @ 5 " afafa
R &1 a7 §
(a) THART wfafa
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(b) Yuspal Committee (b) Zrerqrer wfAfa

(c) Sachar Committee (c) Iz wfafa

(d) Hurtong Committee (d) gerer afAafa

57. Which of the following statement is correct 57. ¥ F TaERIcAs Rgear & IER,

about the learning, according to the behavioral fArafaf@a & ¥ Fi9 a1 Fya 30T F

principles of learning? Rvr & ¥ &

(a) Cannot be measured and observed (a) 3t 3R AU AgT fharT ST FhaT &l

(b) Measured through subjective psychological (b) TfFafIss AArdTAS QiR garT A9 fFar e
methods. gl

(c) Observed and measured in an objective way
(d) Measured the introspection method.

(c) aEfecs s & Hacllehet AR ATIT Fhar ST Fehell
gl
(d) 3eaderT fafer garT A fRar Srar gl

58. Team teaching refer to situation where
(a) Two or more teacher's teach onestudent.

(b) "Two or more teachers teach a group of students.

(c) Two or more teachers discuss about a topic.
(d) Two or more teachers solve a difficult problem.

58. areht Rrgmor fAraAfaf@a & @ Fw aRfRyfa # war
ST 872

(a) ST ar a1 3ifas fares ohdl T a1F &1 Jerd gl
(b) ST« er 1 3fteh et fhelT Sl & T FHg A
derd gl

(c) ar r 3ife e T geor W aR=Tdr ad gl
(d) ST ar a1 31T et Tk HidT TATAT A gl
gl

59. Which of the following is not a stage of moral
development proposed by Kohlberg"

(a) Non-conventional

(b) Pre-conventional

(c) Post-conventional

(d) Conventional

59. frafaf@d & & Fi W Fgaeet garr vfawfea
dfas Rew fera fF &

aEUT FE F

(a) IN) WFERWTA-

(a) 98 TFRET

(C) 9T TRFERTITT

(d) RFERTTT

60. Which of the following is helpful to improve
mental health of teachers?

(a) High moral expectations

(b) Flexibility of head of the school

(c) Lack of professional aptitude

(d) Autocratic administration

60. Prafaf@a & @ &la @1 gt & AARE
LT § GUR F WS § ?

(a) 3T Afas 3MATT

(b) femer & HEATEATIH HT oTierde

(c) cTTaaTAe IFTRETAAT Hr Har

(d) THhd=IT JATHA

Solution 56 to 60

Solution 56:-
(b) Yuspal Committee

Solution 57:-

5 More Free Sample Papers
Whatsapp at 99280-86953

For Purchasing Complete Sample Paper Booklet
Download Commerce Point App




Sample Paper - 3

Multinle Choice Ouestions

(c) Observed and measured in an objective way

Solution 58:-
(b) 'Two or more teachers teach a group of students.

Solution 59:-
(a) Non-conventional

Solution 60:-
(b) Flexibility of head of the school

61.. Which of the following believed that social
interaction is important for Construction of
knowledge ?

(a) Jean Piaget

(b) Lev Vygotsky

(c) J.B. Watson

(d) B.F. Skinner

61. faraifra & & FeaF A7 F HTAR AT T o
wEAToF Aafwar A ffFn FAgecaqer @i 87

(a) SfeT Ramer

(b) oF ST

(c) St arecde &Y.

(d) TR TH.

62. The concept of Emotional Intelligence was first
introduced by :

(a) Peter Salovey and John Mayer

(b) Dan Goleman

(c) E.L. Thorndike

(d) B.F. Skinner

62. waf® qf F Fhewar F yorar §
(a) drex ATeET U Sl AW

(b) 31 Mot

(c) 3UTISISeH .U,

(d) NPT,

63.
development, the ability to understand the law of

According to Piaget theory of cognitive
conservation develops in

(a) Sensory Motor stage

(b) Concrete Operational Stage

(c) Pre-Operational Stage

(d) Formal Operational Stage

63. ST RISt & FaAEcAs Rgia & ITAR F&T0r &
faw f gae RelAT ad @

(a) TAET IMHAF TR W

(b) T HHATHS TR W

(c) qEHTHATCHS TR T-

(d) 3R FfhdTcAs TR T

64.. Heinz's Dilemma is related to which of the
following theory?

(a) Piaget's theory of cognitive Development

(b) Freud's theory of Psycho-Sexual development
(c) Kohlberg's theory of Moral Development

(d) Bandura's theory of observational learning

64. 37 gfaem )Heinz's Dilemma) fawrifa & ¥ frw
fRgia & a«faa §72

(a) RIS & TARCHAS A & RBgia @

(b) WIE F FAE [T & RAga &

(c) PEATI & afds e & Bgia &

(d) s & AdeToneHs JrfeeH 4

65. Which of the following is not involved in notion
of Emotional Intelligence as given by Mayer (2008)?

65., AT )2008) ZART & A FRATF afg Hir Fweqe
# fRifea & ¥ w1 wfea 78 ¥

5 More Free Sample Papers
Whatsapp at 99280-86953

For Purchasing Complete Sample Paper Booklet
Download Commerce Point App




Sample Paper - 3

Multinle Choice Ouestions

(a) Ability to read other's emotion correctly

(b) Self Motivation

(c) Regulating and controlling one's own emotion
(d) Motivating others

(a) GERT & HAaT &l S ¥ Tgal
(b) 31TcH oM

(c) 39at HAN &1 fAgH"T va fAg=or
(d) gEt 1 HAIRT e

Solution 61 to 65

Solution 61:-
(b) Lev Vygotsky

Solution 62:-
(a) Peter Salovey and John Mayer

Solution 63:-
(b) Concrete Operational Stage

Solution 64:-
(c) Kohlberg's theory of Moral Development

Solution 65:-
(d) Motivating others

66. Which of the following is not related to the
classical conditioning?

(a) Extinction

(b) Spontaneous Recovery

(c) Discrimination

(d) Shaping

66. fAFdifhd & ¥ Fla @1 AENT IeEuT § FaAA
et 87

(a) faeiaer

(b) TcshTer qeAvTic

(c) Tasiest

(d) fder

67. Today, Sunlight is uncomfortably bright. You put
on a Sunglass which reduced your discomfort. It
may be an example of

(a) Negative Reinforcement

(b) Positive Reinforcement

(c) Negative Punishment

(d) Positive Punishment

67. 3T 4T ol Td IYEE ¢ | AT 4T TRAT A9 o §
ST AT FYRAUT F FA F AT §1 I TF 3T
THar §

(a) FAPRTcHS YeAdolal T

(b) HRRIcHS YTdelel T

(c) FAPRIcHS &3 Hl

(d) HHRIcH &5 1

68. Jean Piaget used 'The Three Mountain Problem’
to illustrate which of the following concept?

(a) Law of conservation

(b) Egocentrism

(c) A-B search Error

68. FUAg ‘AT gdd AT (Three Mountain
Problem) &T ¥ e Rt o @Aeaifda & ¥ fFa
HHeUT F FTIC FA & faw fmar 2

(a) EI&UT &1 fAIH

(b) Taehgor
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(d) Reasoning Ability

(c) A-B @1 e
(d) arfrer &TeTaT

69. In
Reinforcement,

the schedule of

'Reinforcement is

which of
the

following
least
predictable?

(a) Fixed Interval Schedule

(b) Fixed Ratio Schedule

(c) Variable Ratio Schedule

(d) All are equally predictable

69. faratifra & & Py qodae ATTT A ‘ToAaoler Fa@
FH qARTHAT giaT ¢ ?

(a) TR 3T AT

(b) TR 3eUTeT A5ger

(c) T JHUTT A

(d) @l & A &7 & qATHT ¢

70. According to Piaget the stage in which role of
objectivity and reality increased is

(a) Sensory-motor stage

(b) Pre-operational stage

(c) Stage of concrete operation

(d) Stage of formal operation

70. et & AR e # & fhw s A
FEfasadl Td aedfasar Ht HfAFT 93 AT B
(a) TN 3raEer-

(b) STEfhATCH 3raEAT

(c) 3T Afspar T 3rgear

(d) 3Hra=mies Hishar & 3raear

Solution 66 to 70

Solution 66:-
(d) Shaping

Solution 67:-
(a) Negative Reinforcement

Solution 68:-
(b) Egocentrism

Solution 69:-
(b) Fixed Ratio Schedule

Solution 70:-
(c) Stage of concrete operation

71. Child of which of the age group commits crime
is called juvenile delinquency in India?

(a) Less than 4 years
(b)
)

(c) Less than 16 years

Less than 8 years

(d) Less than 18 years

71. 4R & FE MY T & qre @R fFU aTw IR
FY T IR FeT AT & 2

(a) 4 a§ @ &a

(b) 8 T ¥ FA

(c) 16 a¥ & &

(d) 18 a§ & HA

72, Who is the propounder of Psychoanalytica

72. fRARETYT ¥ FafOd AARAYUTCA® Rged &
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theory related to adolescence ?
(@) Anna Freud

(b) G.S. Hall

(c) Sigmund Freud

(d) Erikson

yfaues wia § 2
(a) 3ol WHIIS
(b) SirgTer T4
(OREEGER IR ES
(d) sReFweT

73. Which of the following are the fundamental
elements of a teaching model?

(a) Focus

(b) Social system

(c) Syntax

(d) Support system

(e) Evaluation

Select the correct answer using the codes given
below:

(a) a,c,b,d

(b) b,c,d,e

(c) a,b, ce

(d) ce,bd

73. fawafaf@a & @ *ia Raror gfawmer & amurea
deca €2

(a) 32T

(b) G+ YorTel!

(c) EIT=IT

(d) FHST qomTelY

(e) FAeaTHeT

@ R Fz & ¥ 3cav T TIT
(a) a,c, bd

(b) b, c,d,e

(c) a, b,ce

(d) ce,bd

74. Which of the following group includes projected
aids

(a) T.V., teaching machine, computer, puppets.

(b) Film strip. slides, OHP transparencies, opaque
projector

(c) Demonstration, OHP transparencies, T.V..models
(d) Cartoons, microscopic slides, radio, computer

74. faFT & & Fla @1 g 9aRT wAah w71 2

(a) Telfaster, fRreaTor #efeT, secgex, que

(b) frew Feu, Tarss, 3NMTadr eegR=a, 3% NoAFed
(c) 9ed, INTAT TeaIRd!, Tallfaeted, UfdamT

(d) FEew, Feeel Fomss, WA, FFegex

75. Propounder of Advanced Organisor teaching
model is

(a) Joseph J. Schoab

(b) David P. Ausubel

(c) Hilda Taba

(d) Jerome S. Bruner

75. A cyawyr Naror gfaaAT & yfaues §
(a) A% SIeEE .

(b) 3fas o1 Jmgeer

(c) feesT et

(d) SR# T8 =R

Solution 71 to 75

Solution 71:-
(d) Less than 18 years

Solution 72:-
(c) Sigmund Freud

Solution 73:-
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(a) a,c, b,d

Solution 74:-

(b) Film strip. slides, OHP transparencies, opaque projector

Solution 75:-
(b) David P. Ausubel

76. Use of which of the following Audio Visual aid
in teaching supports concept learning?

(a) Radio

(b) Line drawing

(c) Model

(d) Language lab

76. feTor A AFT A @ FH scgeey WA - 3T
ygy e & "ee g

(a) Yf3ar

(b) Y@

(c) gfaATT

(d) $ITST gITeTRITeT

77. Movement, gesture, change in voice, change in
A/V aid sequence are the Component of which of
the following skill?

(a) Closure

(b) Set induction

(c) Stimulus variation

(d) Reinforcement

77. T4, $Td HIAHAT, AT A IIRTGE-, ALY FA -
H sgamg, AaFa & ¥ Fa Raror slera & gesw §7?

(a) FHGAr

(b) f=are 9zom

(c) 39T fReeAar

(d) GeteTere

78. Which of the following comes under primary
memory device?

(a) RAM

(b) CD-ROM

(c) Hard Disk

(d) Pen Drive

78. faw & & Fla wrafaw wfa gfFa & 2
(a) ¥

(b) CD AH

(c) &5 3

(d) YeTgTST

79. Which of the following is an application software
?

(a) Windows

(b) Web Browsers

(c) Unix

(d) Linux

79. fAF # ¥ Fla el AFedw® § 2
(a) o=t

(b) 3T FBER

(c) gfasra

(d) ergetsrd

80. Which of the following is known as Brain of
computer?

(a) Input Devices

(b) CPU

(c) Output devices

(d) Printer

80. faraifra & & fFA Foyex F1 Affass Fer San
87

(@) $eT9C 39URIOT

(b) Fr.g@.

(c) 3T3TYC 39T

(d) Bz
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Solution 76 to 80

Solution 76:-
(c) Model

Solution 77:-
(c) Stimulus variation

Solution 78:-
(a) RAM

Solution 79:-
(b) Web Browsers

Solution 80:-
(b) CPU

81. Which financial statement out of the followings
is not a part of double entry system.

(A) Trading Account

(B) Profit & Loss Account

(C) Balance Sheet

(D) Profit and Loss Appropriation Account

81. A& & & Fla-ur Rawor g s@r vorelt &1 Hr
Y

(31) SRS @rdr

(@) o gifed @rar

(@) Ryfa faavor

(@) <mer griel faeRoT @rar

82. Which statement one out of the followings is
not a financial statement?

(A) Budget Manual

(B) Manufacturing Account

(C) Balance Sheet

(D) P & L Appropriation Account

82. fare & wla @1 favor e favor &gt &2
(31) Sole Aege

(9) 3curesT @rdr

(@) Ryfa faavor

(@) <mer gifel faeRoT @rar

83. If B and C are sharing profit in the ratio of 2:3
in a firm and A entered in business as partner for
1/6 share in the firm. New profit sharing ratio of
ABC will be.

(A) 3:2:1

(B) 2:3:1

(C) 1:1:1

(D) 1:2:3

83. IfE vF HF A B T C WBIGR 2 : 3 & IHe[ura A

AT gicad § 99T A AT #1/6 BTEY F W0 wAY FAT §
@ A, B @ C WISIERI &1 17 fIaror &1 a@3r srequra Far
m?

(31) 3:2:1

(&) 2:3:1

(@) 1:1:1

(@) 1:2:3

84. If stock turnover ratio is 73 days and annual
cost of goods sold is 6,00,000 then for working

84. If% weiew amad 73 faer & aur I A AT A ANIT
6,00,000 wfar ¥ g oY Al gt & waewr v T
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capital management what is value of closing stock?
(A) 1,20,000

(B) 1,00,000

(C) 8,219

(D) 1,50,000

¥ A Teld F Hed 79T §M?
(A) 1,20,000

(B) 1,00,000

(C) 8,219

(D) 1,50,000

85. If annual credit sales is 18,00,000 at a profit of
20% on cost and debtors turnover ratio is 3 then
what amount will be invested in Debtors for working
capital management.

85. G T IT 20% T S §C AT IR fashy
18,00,000 TUF g UG SeIgRI & ad 3 g df Hraefier
Yait #r e & qert A fraen Ree= ghm?

(37) 6,00,000

(A) 6,00,000 () 5,00,000
(B) 5,00,000 (a) 4,80,000
(C) 4,80,000 (&) 7,00,000
(D) 7,00,000

Solution 81 to 85
Solution 81:-

(C) Balance Sheet

Solution 82:-
(A) Budget Manual

Solution 83:-
(B) 2:3:1

Solution 84:-
(A) 1,20,000

Solution 85:-
(B) 5,00,000

86. Net present value in Capital Expenditure
Budgeting is calculated as:

(A) Total cash in flow ( -) Initial Investment

(B) Total cash in flow Divided by number of years
(C) Total cash in flow (-) Depreciation @ 10%
(D) None of the above

86. olt gorea 1 R 7 g adaer Fea i TvrET
T A FTIFR A FAE :

(31) T Ahs YdTg - TRTFeTsh fa=ramar

(§) T Ahs JaTg H a§t H A F i
(@) T Aehs 9aTe - 10% HI e & g TeT I

@) 3WFT H T IS 7

87. Payback method of capital expenditure
budgeting is suitable where:
(A) Cash in flow is nominal

87.&@mm$&%ﬁa§mmwm
sRa ¢ sefF
(31) USRS Yarg ATH AT H g
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(B) Where investment in machine is nominal

(C) Where time value of money is not considered
(D) Where more than three proposals are considered
together

@) AT F TAfAT A AT F7 BT

(F) 39 9T H AT & Y A G6olld ol A H o
@r S

(€) I TS TTY 3 ¥ AF wrarar R faar Far s

88. If rate of interest is 10% what is present value
of Re. 1 which will be received after two years?
(A) Re.0.82645

(B) Re. 0.90909

(C) Re.0.89165

(D) Re: 0.72723

88. Ify sursr #r g7 10% @ ar S 1.00 FIAT gy a¥
TRUTA WITd ERN 3WHI TAATT Hed FIT g7

(37) Re.0.82645

(8) Re.0.90909

(&) Re.0.89165

(@) Re.0.72723

89. Gross working capital is equal to:

(A) Sum total of Current Assets

(B)Current Assets - Current Liabilities

(C) Fixed Assets - Current Assets

(D) Long term borrowings - Current Liabilities

89. Wad Fraefter Yot AT ¥ :
(31) Tor FFqfeadr &1 AT

(@) For gFafeaar - g afifca

() TR gFgieadn - Tel qFafeadn
(&) SrdehTelleT HOT (-) Tl arded

90. Core Current Assets are which of the followings:
(A) Current Assets - Current Liabilities

(B) Minimum Current Assets to run business

(C) Reeivables

(D) Liquid Assets

90. HET T FFafeadr (CCA) fawr & @ wier € 32
(31) o FFqfeam - I giidcd

(@) SFIH A Tl & AT AdH Tel FFfeaan
(T) SIERT & 9T gl I IIfer

(@) ol gFafeaar

Solution 86 to 90

Solution 86:-
(A) Total cash in flow ( -) Initial Investment

Solution 87:-
(C) Where time value of money is not considered

Solution 88:-
(A) Re.0.82645

Solution 89:-
(A) Sum total of Current Assets

Solution 90:-
(B) Minimum Current Assets to run business

91. Which one is correct to express Net working
capital?

91. Friefiar Golt #t ywe w1 & fov e & @ Fla @1
e 82
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(A) Working capital =Current Assets - Current
Liabilities

(B) It is that part of current assets which is financed
by long term resources

(C) Working Capital = Owner's fund + Long term
borrowings - Fixed assets

(D) All are correct

(31) @RSl Yot = =ol HFafeadr - oo glica

(@) Frher 9ot ae FFafeaat & g smr § fSEd e
TIEAT &Y FIeled WA T g ¥

(@) Frefier doit = FarfAat @1 defit + e e ®or-
Tyl geEafeaar

(@) 3IWFdT T T &

92.
customers as its

If a firm records advances Received from its

income, then which of the
following violates the concept?

(a) Money Measurement Concept

(b) cost concept

(c) Recovery concept

(d) Separate existence concept

92. If¢ TH EH U AEE F red ’fAF A F 3=t
T AT ot &, aF 9% P & & FE @unem &
Joddd Il g7

(a) HaT AT aemren

(b) TRT TR

(c) a¥gelT aurRuT

(d) Y 3HEAca Lo

93. Which of the following is not a primary book of

93. farifra # & FIa-W wufdw Res i graw 7@

record? 2

(a) ledger (a) @rar-sgr

(b) Cash Book (b) I3 T

(c) Sales Book (c) fasha gEas

(d) Bills Payable Book (d) ¥ faud geas

94. Which of the following mistakes will not affect 94, Arafaf@a safaat & ¥ Fla-Hf o) qeue
the trial balance wsfaa A8t S

(a) Purchased goods for 5,000 in cash, Expenditure
account debited instead of Purchase account

(b) The total of Purchases- book in December was
charged by 500 more

(c) The total of the sales book was carried forward to
2,200 instead of 2,000

(d) none of the above

(@) 5,000 & A9E AT TWIET, HFF T & TAT W @I
wra &1 sfee forar a=r

(b) TR & sy-aradr sgr #T T 500 3T STemAT
9T

(c) Tashar &Y &1 TET 2,000 & TAT W 2,200 3T o
ST 91T

(d) 39Fd & § #IS AL

95. ‘Calls in Arrear on Shares” are shown in the
balance sheet of the company

(a) adding to the share capital

(b) Deducted from the called share capital

(c) Under the head 'Current Assets'

(d) Under the head 'Current Liabilities'

95. “THIAT 3 - AW AR “ F FFUaAr & 3w AT &
weitla T amar ¥

(a) 372 Yait 7 S5t

(b) AT S 37T Yol & TR

(c) dTe] FFYfcaal & Mg A

(d) =me] et & oMy &

Solution 91 to 95

Solution 91:-
(D) All are correct
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Solution 92:-

Ans : (c)

I U B O A F Ired IIF A &I 396l T AT ol § a6 d6 AWiched & aH el FTURVM HT et
R & Flfh $H FAURVN & IR HETH T I g3 A Sl & o AleT AT s Tt g1 ST 3727am Jar
S 1 BUfT & @ar &1 foasures @ g S| S Al T YA wY &7 Sl § I Al I Eled gEAledRed g
ST &, a9 38 95T g3 A 7l

3d: fdFeq (c) HEr 3 Bl

If a firm treats advances received from its customers as income, it violates the realization concept of

accounting because according to this concept, revenue is considered realized only when the sale of goods is
completed or in the case of service contracts. The service is completed.

When the goods are delivered then the ownership of the goods is transferred, it is deemed to have been
sold. Hence option (c) is the correct answer.

Solution 93:-

Ans : (a)

Grar §€7 WiYAS R i qedw Agl 1 TE Th W 98 ¢, SEd wrufAe RS g & Ry o o @
G @id Giel ST g1 T1ufdieh RS qede & Headid Uehs G&eh, $Hd G, [dshd G, HT amqdl T,
fashg arael e, ¢ AT qEash, Yed faus qEdeh aUl Sieiel 99X &1 FFAfT fhar Sirar €1 3 fashed (a) @ér
3 &

The ledger is not the primary book of record. It is such a book, in which the accounts relating to the

accounts made in the primary record book are opened. Under the primary record book, cash book, purchase
book, sales book, purchase return book, sales return book, bills payable book, bills receivable book and
journal-Proper are included. Hence option (a) is the correct answer

Solution 94:-

Ans : A

5000 9 T ehe HIel Tl TS T T & T W/ TG T H 3f9e f6ar 721, o 570 e 1 qa77a Terde
I TGN TSI FAIR 2leAT &7 GRM3 A Aehs WA FY T @ HfSe fobar 72 §, greitn oA areey qRegg v
W I Jouc & Aol &l gHTdT T8 il |

If you bought goods worth Rs 5000 in which expenses account was debited instead of purchase account,
then this error will not affect the trial balance because in both the cases cash account has been Properly
credited , although ‘Error of commission’ has been occurred, but it does not affect the matching of Trial
Balance.

Solution 95:-

Ans : (b)

eed AN & AR A et H AN F F gerER FEweh & af¥E Ry A gefia R Srar 1 seea Al #r
TfRr 1 3y W AR A § TSR AW IR g W IR GaRT ATl # fehar I gl
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96. The bill discounted in the bank is :
(a) Contingent liability

(b) Current Liability

(c) Current assets

(d) Liability for Bank

96. d% F sfemrar T faer ¥ :
(a) TFATT aTfidca

(b) =Te &

(c) BTl FFYTee

(d) ¥ & alca

97. Registration of partnership firm is?

(a) Mandatory as per Indian Partnership Act
(b) Mandatory as per Indian Income Tax Act
(c) Mandatory as per Indian Companies Act
(d) Elective/Optional

97. WIBIERl W & YsiigeT § ?

(a) #RCT AP AR & FER ARy
(b) ¥R IR HRATATH & HaR JfAard
(c) HRT HEdell HATATH & HaR iy
(d) YoF/dFicasn

98. On admission of new partner, increase in the
value of Assets is credited

(a) Profit and Loss Adjustment Account

(b) in the capital account of the old partners

(c) In the property account

(d) Profit and Loss Account

98. 7} WHER F YU W, FF4fed & Hed & g
#f3e fFar amar &

(a) o T gIfel FATAST @rdr H

(b) I ATHERT &1 Yol WreT &

(c) GFufed @rar #

(d) =msT Ua gIfer @rar #

99. A 'Realisation Account' is made on the transfer
of assets on the dissolution of the firm.

(a) Debit

(b) Credit

(c) Debit or Credit

(d) none

99. B & WAYS WX HFIfcadl HT FEATAIT Hlel W
‘FHA. Frar AT Frar ¥

(a) sfec

(b) Hfse

(d) IS =7gr

(c) sfac ar fsc

100. Provision for Doubtful Debts in case of
dissolution of partnership firm is transferred to-
(a) Profit and Loss Account

(b) Realization Account

(c) Capital Account

(d) Sundry Debtors Account

100. FEIGRY & & famed A qar & "Wl %O 3
YT’ FT gEdl=aor fFAT 1T -

(a) arH-gifar @ &

(b) g T H

(c) 4o @ #

(d) fafaer eier @ A

Solution 96 to 100

Solution 96:-
Ans : (a)

e & oA I 4T FEATT ETiAcd Bl & FAlhl ThReh EaRT & ff¥ 9 3R $paramel =gt feham aram, ar
I A dTel ST T FAT U5 Hehell § STaleh @], AMAcd Ig 81T & ToIEahl ol T fdecia a¥ & 3eex
o Sl T SX7eT &1 S8 Yo oTe] FFicd ag TFdicd ¢ o Toh faecdia a¥ & ooy agel o Sirer T Hemraar

gl
Solution 97:-
Ans : (d)
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ar am gy ¥ 3fAF ASERT garT TART &1 =0T ABIERT TEAT T GoliTeT e Weas giar & & [ ey sefe
FHFYAT FT GoligeT FT AT gar gl

Solution 98:-

Ans : (a)

d WHER & YA W FFTed & Hed # gfg T o-gifal ARG @il (P&L Adjustment A/c) #H shfse famar
S g1 Stafeh @rafed & #Hoa # Sl &l 3@ @id & Sfae fhar Srar g1 weet & F3ll well qeefedishal @i & T
9 T el ARSI Wid &7 91T foham Srar & |

Solution 99:-
(a) Debit

Solution 100:-

Ans : (b)

AT G & faues $T gur # Hfeger HUT g / TaureT H a¥ell @i (Reliasation Ac) # gdledRd faHam i
g 37T fauea & @ay [y & gFufca &1 3R Sagr &7 Ui & 3urey vg Tfesyr Hol &1 Ty geew fe@mar
¢ ar a¥el W & 3fae gal A Sery i qff TR fordy SIRel aur ey vd |feTy ROl & HOd @ AR agen
Grd & shisc 9&7 H fordr e

37d: @Fed (b) TEr 3ok gl

101. A= & @ Fia a1 31U A vHaT F RAgaT F1

101. Who among the following is a strong supporter

of the principle of unity of command? gad GHAF 87

(a) Henry Fayol (a) & HITeT

(b) Max Weber (b) HFF AT

(c) willow (c) faatrelr

(d) Herbert Simon (d) goc AZAA

102. 1000 people live in a colony in which the | 102. T& Hfaldl & 1000 =afFa TEd & = Rf@a

number of educated people is 450 and the number
of employed people is 300. 160 out of employed
people are educated. The number of uneducated
unemployed in the colony is:

(a) 550

(b) 460

(c) 410

(d) 390

de A TEAT 450 UF ASOR 9Iod @ H1 FEar 300
gl VoeR gred @Rt #F F 160 AT 71 FraEr F
AT R Fr T &

(a) 550

(b) 460

(c) 410

(d) 390

103. The first Moment (Measure) of dispersion is

called (a) GHATeAX ATET
(a) Arithmetic mean (b) ATET faTeleT
(b) Mean deviation (c) wAT faTeeT
(c) Standard deviation (d) TIq et
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(d) Quartile Deviation
104. The mean of the marks of 50 students was 35. | 104. 50 fag@fdai & wicais! #1 #ATex 35 41| ag H
Later it was found that the marks of two students | vaT ¥ f& & fagfdAt & wrcais 27 va 54 & ¥y
were in the place of 27 and 54 But by mistake, 72 | WX Ffeaer 72 va 45 wg fad | g ATew ghom:
and 45 were read. The Correct mean will be: (a) 34.28
(a) 34.28 (b) 34.82
(b) 34.82 (c) 34.62
(c) 34.62 (d) 34.72
(d) 34.72
105. F-l F FHE F1 e -1l @ ARw ik Re 70 e & 7@ a7 7w
-1, -1l
A. g9%1% (Index No.) (i) |mAT=T (Normal)
B. T4 a¥ (Base Year) (i) TRW/=W
C. 3myR a¥ F1 A= (index no. Of Base Year) (iif) 3nfdw RHAeT (Economy Berometer)
D. i@ 3w =g §fa (Family Income Exp. Method) (iv) 100
A B C D

(a) (i) (ii) (iii) (iv)
(b) (iii) (i) (iv) (ii)
(c) (iv) (iii) (ii) ()
(d) (iii) (i) (ii) (Iv)

Solution 101 to 105

Solution 101:-
(a) Henry Fayol

Solution 102:-
(c) 410

Solution 103:-

Ans : (b)

AreT el (M.D.) 3Mafor &7 g AT §, /@ Aol & gaft el eurs I@r Srar 1 Ay fJuds v [{awor &
el AIET AT AT (M) & et & gl BT 39aT FA gV, A faered F Ay A6 gl et o Ay
T STar §, sHY YR 5T AT & Ui JATeT fAuee Fgl Srar g

Ay faaeeT & gud gRera @1 39T (First Moment of Disperson) #T gl SiTar g1

3d: fFed (b) TEr 3 &l

(b) Mean Deviation (M.D.) is the measure of dispersion taking into account all the terms in the series. The

mean deviation is the mean amount of known deviations of a distribution, ignoring the signs of deviations from
the mean or the median (M). The mean of the deviations is taken, thus this measure is often called the
Mean deviation.

The mean deviation is also called the first moment of dispersion. Hence option (b) is the correct answer.
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Solution 104:-

Ans : (a) fear gfacafdat $r @war = 50 A = 35 350x35 = 1750

g%-q'ar UEr IR AT = 27 &Y 72 dAT 54 F 45

1T (-) 3R[E HEAT (+) Y HEAT
TET Fel UIecdieh = 1750 - (72+45) + (27+54) = 1714
1714

50

= 34.28 g AEY

Solution 105:-

Ans : (b)

-1 -1l

ECEIC T e R

k1131 c e L AT

MR ¥ & fAgens......100

qaie 3ma-cgg §fa.  sRW
W

106. .Which relationship can be correct between the
Mode, the Mean and the Median?

(a) Mean > Median > Mode

(b) Mean > Mode > Median

(c) Mean < Model > Median

106. .5ifva, ATET qUT AIfCAHT A FA-A1 FEEew W
& WHaT 87

(a) \TET > AT > i ASSH

(b) \TET > HRASSH > HAITTAHT

(c) ATET < RAsSH > ATTEGenT

(d) Mean = 3 Median - Mode (d) &TET = 3 AR - HiAveH

107. SDR popularly called 107. TH.ILAR. AT T & Fgad &

(a) currency note (a) FET Ale

(b) Paper Silver (b) IR Rexx

(c) credit acknowledgment (c) shfsec gradr

(d) Paper Gold (d) 99X 9Mes

108. Bank rate is the one at which 108. 3F W F@ &M ¢ Fw W

(a) Commercial banks provide loans to the public (a) TR dF SAdT HI FHOT Jld A &

(b) State banks provide loans to commercial banks
(c) The Central Government provides loans to the
State Governments

(d) RBI provides loans to commercial banks

(b) T S IR Sl T FOT YeTT I &
(C) Feald THR AT THRT &l FHOT Y&ld FLdl &
(d) Rera d% camaie def @ HKOT Jere Hid ¢

109. The amount set off and appropriated out of

109. fasIsw @St { 3rerer A ¢ va A} RAANTT M
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divisible profit is known. a$ TR FT AT ST B
(a) in the form of Reserves (a) TIT & & H

(b) as a fund (b) Y & T H

(c) in the form of capital Reserves (c) doferd o & &7 A
(d) in the form of Secret Reserves (d) Icd FIT & ¥ H
110. In what context is the term 'improvement 110. '33ACT UEfa' Aeq &1 TANT 5T Heesl & gar 272
method' used? BERKR]

(a) Purchase Book (b) T s@r

(b) sales book (c) T3 «Er

(c) Cash Book (d) Gexr s e

(d) Retail Cash Book

Solution 106 to 110

Solution 106:-

Ans : (a)

AT fHE vk & AF Ao & Feprer I Aew, TP, Sgorh A AET HT A TOH T, AIMCTRT T SHY
wmwﬂmmwm& Hﬂﬁﬁmﬂ>m>a§ﬂ$Mean > Median > Mode

Ale: #eT, Aftas g ggorsd § Arafafd qeaey o g S g

dgesh = 3 AITCIH - 2 A

Mode=3M -2X

Generally in the mean, median, mode, the value of the mean is the largest, the median is less than that of
the mode while the value of the mode is the least, i.e. mean > median > mode. Mean > Median > Mode
Note: The following relationship is also found between mean, median and mode.

Mode = 3 median - 2 mean

Mode=3M -2X

Solution 107:-

Ans : (d)

faely 3mgRor AR (SDR'S-Special Drawing Right) 3=cRISE #HgT IV gaRT iold Teh Hal (Y9 garn) g i
HeE Rl & AEg 9 el ofifaeh gEaeoRoT WER $FT & v TR &1 S €1 SDR U 3ecRisery Red

qegicd § ST Foiel IMF 2aRT a¥ 1969 & foham aram o1 fheq a¥ 1970 & J§ Yuieldd & 37 Hehl| SDR &1 Feolel
QT dMes & ®7 A HOF 6T gl

Special Drawing Right (SDR'S-Special Drawing Right) is a currency (by letter) created by the International
Monetary Fund. Which is accepted for mutual payment between member countries without any physical
transfer. SDR is an international reserve asset that was created by the IMF in the year 1969 but came into
operation in the year 1970. SDR is more popularly known as Paper Gold in circulation.

Solution 108:-
Ans : (d)
Hint:- §% &3 g8 &X g &, o ) Rod d camaies d&F A 31 vea axar § 3127 g )k | Red d
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TR 3% & gue Aol & el o qoFdeldt FXar ¢, 9 d& aX Feond g
Bank rate is the rate at which the Reserve Bank grants loans to commercial banks i.e. the rate at which the
Reserve Bank re-deducts the first class bills of the commercial bank is called the bank rate.

Solution 109:-

Ans : (b) faHTST oM & 37crer & 13 TF deX AfAAfSa $r = I & FW (Fund) & §F H AT AT 8§, I8
HIY T AT IR A T F g Tl g1 Theg o9 3@ fawrew omer @ 3reer i 98 AR A cgrewy A @
fafaford & &0 & e f&ar Srar § o 38§99 Fgd ol

3d: fa%ed (b) FEr 3l &l

The amount set aside and appropriated out of divisible profit is known as a fund, this fund can be in
cumulative or non-cumulative form. But when the amount set aside from this divisible profit is allowed to
remain invested in the business itself, then it is called Reserves

Hence option (b) is the correct answer.

Solution 110:-

Ans: (d)

Hint:- 319 TgTfcl Qrse &1 T9T Ger Ushs §€7  (Petty Cash Book) & Hegsl # fahar Sirar &1 I8 Ush & &gl
¢, oA gfafes & ger Aehg cFal & or@r fhar S &l

The term imprest method is used with reference to the retail/Petty cash book. It is a book in which the daily
Petty/retail cash expenses are accounted for.

111. The case of Garner Vs. Murray deals with the! | 111. AT §ATH AY HT AHAT EERT H fAFT a8 W
settlement of accounts among the partners on the WEY Rae-frde dF s & 95y @dr §

following occasions (a) T AEER & AT W

(@) On admission of new partner (b) TEIER & 37T AGUT el U
(b) on the retirement of the partner (c) AR &I g W

(c) on the death of the partner (d) IEER & fearferar g el oY
(d) on the insolvency of the partner

112. Share Allotment Account is 112. 39T 3T9eeT @IdT &

(a) Real Account (a) arEdfas @rdr

(b) Personal Account (b) IfFaeTa @rar

(c) Nominal Account (c) ATHHATT T WIdl

(d) Capex Account (d) HIFT @rar

113. The ratio of the shares of A, B and C out of 113. @ & & AB 3R C & Rewl &1 qura § Forer:
the profit is 1/2, 3/10 and 1/5 respectively if C died. | 1/2, 3/10 3R 15 CR FI A T I A IR B &
Now the new profit ratio between A and B will be? | = W87 T 7T TUTT EM ?

(a) 3:1 (a) 3:1
(b) 2:1 (b) 2:1
(c) 3:2 (c) 3:2
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(d) 5:3

(d) 5:3

114. On which concept of accounting is provisioning
for bad and doubtful debts based?

(a) Concept of Disclosure

(b) Concept of Consistency

(c) Conservative Concept

(d) Going Concern Concept

114. 3w U9 W@y % & AU y@ue a1 d@ihT
T fFE aurRom W amenRa §7?

(a) Ihe FLA T ATYROT

(b) FEeRar &I 3raurom

(c) ®fgardr raurom

(d) foRed=ar &1 rquror

115. What is meant by unpaid/Outstanding rent?
(a) Rent is paid in cash

(b) Rent has been received.

(c) Rent has become due but not paid.

(d) rent has been paid in advance.

115. 3iged AT &1 Fa1 7Y ghar 87

(a) TR oo $pETATT &Y T ST

(b) formam urea foham I ©

(c) Forrar 230 @Y arar B, foheq spereet w1t foar amam
(d) T T aeTdTe &Y o I §

Solution 111 to 115

Solution 111:-
Ans : (d)

Mo TATH A T ATHT TSR & Caleldr 8l Sl & a8 9 TER RBAE-fhdid aF a¥sr @ TFaey @dr gl

Hel 1903 & =Ararelier Sgd o Mo §ard &R & fdare & S hael Forar a8 qe g a1 72| fadre a1 @y

feetaa ar

1. fearferar Arsier &1 Yol & el AIUET FieRT 1 Yol & JHeqdrd & sler S|
2. Yol 39T 38 Yot o 37equrel # Toeprefel gl St faues & qa o=t &g & o
3. aEell Y gIfel STSTENST 3egared # dieaf| 37 fashod D Hel 3ol & |

The case of Garner v. Murray deals with the settlement of mutual accounts in the event of a partner

becoming insolvent.

In 1903, Judge Joyce's ruling in Garner v. Murray became the entire rule.

The decision of the dispute was as follows

1. The shortfall in the capital of the insolvent partner will be divided in proportion to the capital of the solvent

partners.

2. The capital ratio has to be worked out in proportion to the capital which was in the balance sheet

prepared before dissolution.

3. The Loss on Realisation will be shared in the ratio of profit. Hence option D is the correct answer.

Solution 112:-

Ans : (b) 37 3TdcsT @IaT (Share Allotment Account) T cafaddrd @rar (Personal Alc) gl
ARFAINT WA & Feddd APt vd TEAB 3fe F @a & aFafaa fFar srar g131er 3nded @rdar 39 afFaar
& giafAfeT &ar § , gl Fuer &1 afaefaat & e & Aoy fRam ¢ | 31d: RAeed (b) aEr 3eaX &

Share Allotment Account is a Personal Account (Personal A/c).

Accounts of individuals and organizations etc. are included under personal account. Share Allotment Account

represents Group of Persons who subscribed Company’s Securities (Share/Debentures etc.) Hence option (b)
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is the correct answer.

Solution 113:-
(d) 5:3

Solution 114:-

Ans: (c) oIG@iehel HT Ffedrl HTURUT & AR Teh FaHT FHIA §IiAAl I Traensl Tgol & HT ol § Siafeh
T et & TrareT et fRaT ST §1 ST HGUROT & UR W AT F 39d HOT g NeMeT Ua Hieew Hon
& foT graure & J@r I S gl

According to the conservative concept of accounting, a business already made provision for Probable/potential
losses while provision for Probable/potential profits is not made. On the basis of this concept, accounting is
done for Future/Probable Bad Debts by making provision for bad and doubtful debts.

Solution 115:-

Ans : (C) 3fecd TR &1 3me & T3 foherar &1 2 3rafer i arely § fohe] oforciier =781 foham mm 81 gq@v rsal
S R T T 99 AuiRe A @ @ fhar Sren € diag qd uiRa Ay & @i 5= & are Ry B air
A 37Ged R &gl 1T gl

Unpaid rent means that the due period of rent has passed but has not been paid. In other words, when the
rent is not paid on the due (predetermined) date, then the amount of rent after the lapse of the Due
(predetermined) date is called unpaid rent.

116. Credit note The book of account in which the .| 116. %f3¢ dlc oW AwT TFas & AW FA F IBN
voucher for accounting is contained is the book g1 8, 9% JEdS ?
(a) Sales book (a) TashT F@r
(b) Purchase Book (b) T FEr
(c) Sales Return Book (c) Tasha aradY sgr
(d) Purchase Return Book (d) T aradT F&r
117. According to the money measurement concept, | 117. HGT A9l FTHUROM * HTER 37 geaAtsit @
only those events are recorded in the books of oET gEas 7 foar Jrar @
account: (31) TSi=¢ T & AL AT ST Hehel €T
(a) Which cannot be measured in money? @) Seg 3% &7 & a1 T"f LU Hal H egad fhar o
(b) Which can be expressed partly or wholly in money. el gl
(c) Expressed numerically. (@) o d&arcas §T F cgad fhar 3w gl
(d) Which are expressed in qualitative form? (@) =g ocHs® & & oged har 91 &
118. As per the “Going concern Concept” concept 118. dTe[ sJqd AaURON * HAUR §H Ig AT FT
we deal with the assumption that: SYIER #d ¢
(a) The business shall continue for a period of not (3) cTIAT HH ¥ A 2 aut do AT Teldr gIm|
less than two years. () TIFT WEH R H R g3 Al ol & g
(b) The business will be closed after the sale of SgqATT &G g ST |
goods purchased on joint venture. (F) cgaary & e g FAST g S|
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(c) The business will be closed soon. (€) =gaarT 3fARTd Frel de Terdr M|

(d) The business will continue indefinitely.

119. Which of the following is not an employment 119. mafaf@a & @ i IR g FrFA E 82
generation programme? (T) ITHTOT VSR ol FIIHRH (RSN

(A) Rural Employment Generation Programme (REGP) | (&) 9T &7 USRIR IioiaAm (FU3Rars)

(B) Prime Minister's Rozgar Yojana (PMRY) (®) FHA & Teo  TET TWeT HRFHA (TAUHSsegUT)
(C) National Food for Work Programme (NFWP) (3) aTeAIh FFdSH TG Irstall

(D) Valmiki Ambedkar Awas Yojana

120. Unemployed people is calculated as 120. AR AT HY AT 37 GFR Y et &

(a) Labour Force - Workforce (T) 57 d - ST

(b) Labour Force + Workforce (&) & I + FRETA

(c) Workforce - Labour Force (H) PR - ST Fof

(d) None of these (3) 3T T HIS G

Solution 116 to 120

Solution 116:-

Ans: (c)

HisT e & IMUR 9N faha aqdlr agl # o@r fHar Srdr g1 I8 Ueh QAT 3w’ § Sl ashdl GarT sl & 9rE $al
STAT & ST shdl AT Wllel &aT § T Il I shal W SATGT A F ol a1 AT Sar & | Aa: Aehod (c) Far
3l &

Sales return on credit note basis is accounted for in the same. It is a voucher that is sent by the seller to
the buyer when the buyer returns the goods or by mistake invoicing has been made on the buyer with
overpriced amount. Hence option (c) is the correct answer.

Solution 117:-
(d) Which are expressed in qualitative form?

Solution 118:-
(d) The business will continue indefinitely.

Solution 119:-
(D) Valmiki Ambedkar Awas Yojana

Solution 120:-
(a) Labour Force - Workforce

121. Mr. Kumar wants to study the national income. | 121. #f FAR T T FT FHEAYT FLAT T ¢ 39
Which branch of economics will he have to study? | 3TermET &Y fFE ATET FT JEIAT FIAT gIM?
(a) Microeconomics (T) G&H HFeTE
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(b) Price theory
(c) Factor price determination
(d) Macroeconomics

(@) T R
(¥) HRE Ao feRor
@) A 3T

122. In order to encourage investment in the
economy, the Central Bank may .........

(a) Reduce Cash Reserve Ratio

(b) Increase Cash Reserve Ratio

(c) Sell Government securities in the open market
(d) Increase Bank Rate

122. deugeyr # A3y & Acwfgd F== F AT, FHT
(V) aiohe JRIETT 3feaTd HHA HY

(&) e IRMEIT 3araT FoTT

() TRy fasifadt & go a7 O

@) dF T Ford

123. The ratio of total deposit that a commercial
bank has to keep with the Reserve Bank of India is
called

(a) Statutory Liquidity Ratio

(b) Deposit Ratio

(c) Cash Reserve Ratio

(d) Legal Reserve Ratio

123. & aifoifsas dF @ aRdT Red d&F & ow @«
arell Fel FAT TRA FT AT Fgarar ¢

(v) denfeieh cRerdr 3eqdre

(&) ST 3fearT

(¥ e TIF 3T

@) dufas  d=x 3equra

(F) FAhe IRTET fgard

124. A coin and pair of dice are tossed together,
the total number of possible outcome for an
Experiment is:

(A) 72

(B) 36

(C) 12

(D) 24

124. & R{aF A 3K g9 F Az A H Y IS
STdr. 8, 39 gAer & wanfad aRoms fr e wear et
4

(A) 72

(B) 36

(C) 12

(D) 24

125. The annual demand for an item is 3,200 units.
The unit cost is 6 and inventory carrying charges
25% p.a. If the cost of one procurement is 150,
determine number of orders per year

125. frelt awq & aifffs aAmr 3200 sF1E ¥ IHS A
T 6 IUd ¢ AR wHAE gas W 256% wiaay @
Iy v @ig AT arrd 150 T9F § ar ameet Y WA
e fifew

(@) 3 (a) 3

(b) 4 (b) 4

(c) 6 (c) 6

(d) 8 (d) 8
Solution 121 to 125

Solution 121:-

(d) Macroeconomics

Solution 122:-
(a) Reduce Cash Reserve Ratio

Solution 123:-
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(a) Statutory Liquidity Ratio

Solution 124:-
(C) 12

Solution 125:-
(b) 4

126. The net profits of a partnership business for
the last five years were: 80,000: 1,00,000: 1,20,000:
1,25,000 and 2,00,000. The capital employed in the
business is Rs. 10,00,000 and the normal rate of
return is 10%. The value of goodwill on the basis of
Profit method:
present value of the annuity of Re 1 for 5 years at
10% is 3.7907 (approx): will be

(A) 4,73,840 (approx)

(B) 94,770 (approx)

(C) 3,79,070 (approx)

(D) 1,25,000 (approx)

the Annuity of Super taking the

126. et ARERY qaw F qg o o arw auf &
HAU: F. 80,000, F. 1,00,000, F. 1,20,000, &. 1,25,000
I ¥ 200,000 ¥ TWEEE H WS T§ et T
10,00,000 ¥ 3 9fawa i FHATT T 10% &1 I
10% 9 5 auf & v 3.1 i af§H F1 add@w=w 7
3.7907 (erarstar) g, aY f&ramst aiffhr A F 3mar w
erfa #1 #Aeg fAuia N

(a) &. 4,73,840 (e13T1319T)

(b) &. 94,770 (133N

(c) ®. 3,79,070 (cTareTar)

(d) . 1,25,000 (e13T313T)

127. Which of the following is not a revenue
receipt?

(a) Recovery of loans

(b) Foreign grants

(c) Profit of public enterprises

(d) Wealth tax

127. Pefaf@a & @ Fa-@ vereg wita @ &2
(T) ROT &I gl

CUREC T

(&) ATEaSIfd 3ETAT FH ATH

() "afed

128. Which of the following sources of receipts in

128. TTHRY Joic & wicqat &1 Ar=faf@a & ¥ sl @

the government budget increases its liabilities? T grffical &Y Terar 87

(a) Direct taxes (T) 9cTar &Y

(b) Recovery of loans (&) =HoT hr age

(c) Borrowings (@) HoT

(d) Dividend from Public Sector Undertakings @) FaAfAS-8F 3UHA T ATHIT
129. MUDRA Bank was set up to meet the credit 129. Har dF fr TUYAT . BT TOT FIAT Y qa
needs of the ... A & AT i 715 o

(a) farmers (T) forarer

(b) small enterprises (&) B 35TH

(c) large enterprises (@) &3 35TH

(d) exporters CE)RGRIGED

130. At present how many industries are exclusively

130. g # oRa # fFaet 3T @y &0 &
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reserved for the public sector in India?

Aadafa® a7 F v 3RfEaa &2

(a) Two (T) ar

(b) Three (&) et

(c) Four (& IR

(d) Five (2n) T
Solution 126 to 130

Solution 126:-

(B) 94,770 (approx)

Solution 127:-
(a) Recovery of loans

Solution 128:-
(c) Borrowings

Solution 129:-
(b) small enterprises

Solution 130:-
(b) Three

131. “EPCG” stands for ....w..:

(a) Export Promotion capital goods

(b) Export Programme for Credit Generation
(c) Exchange programme for Consumer goods
(d) Export Promotion Consumer Goods

131. "STHHES" FT HF .o, &

(v) fortd Haeier qaierd |rATeT

(s *fee ITRAA & fow Fata g
(&) 3ustieFar a&g3i & v veeds dams
(@) g Fatea 3usiear

132. Trade of visible items between the countries is
known as

(a) Balance of Payment

(b) Balance of Trade

132. gt & AT 727 TEPIHT F AR A F T H &0
ST &

(T) $aTcATeT Tfelal

() AR FJele

(c) Deficit Balance (&) @Ter Fe

(d) All of these @ o @i

133. Which of the following is a conventional source | 133. RFafaf@a & & Fla FaT &1 TRURNF AT 27
of energy? (©) g

(@) Sun (sfh) gar

(b) Wind (&) g@r Ma/ MaT & 39T

(c) Dried dung (8N SaR-#TET

(d) Tides
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134.
of short term funds.

is a market for lending & borrowing

(a) Money market
(b) Primary market
(c) Capital market
(d) All of the above

134. e At Y 3uR & 3k 3uR
a7 & AT e daER B

(T) Hal 6]

(&) grafAs IeR

() gair sTeR

(@) 3IWFT Tl

135. Stock exchange is known as
market for securities.

(a) Primary market

(b) Secondary market

(c) Capital market

(d) None of the above

135. TFeer faufor (Fefe waween( #1 gfasfaal & v
IR & ¥ & ST AT Bl

(T) UrIfAs SR

(&) gfadras IR

GO CICIEIR

@) IRFT F T s T80

Solution 131 to 135

Solution 131:-
(a) Export Promotion capital goods

Solution 132:-

(b) Balance of Trade

Solution 133:-
(c) Dried dung

Solution 134:-
(a) Money market

Solution 135:-
(b) Secondary market

136. What is a Cooperative Society?

(a) An organization that is, generally, formed
independently from the government.

(b) Legal entity representing an association of people.
(c) Precise kind of business structure found only in
India.

(d) An autonomous association of persons united
voluntarily to meet their common economic, social,
and cultural needs and aspirations through a jointly-
owned enterprise.

136. wgaRr wfAfy Far 72

(a) UH HISA, ST 3MH dR W TWHR & Tadd & &
aTfea gierm Bl

(b) @t & e 1 gfafaftca #te arel FeE sHs|

(c) fafse g&R T caraaRd TG ST shadl HRA H
g ST &

(d) TR HYFd TIACT dTel 3eTH & HICTH § 3T
3\ 3T, FaATfors AR iEniosn SR 3R rehiatrait
N QR A F AT TdTBT A Thofe IFadl H Th
E&cd €|
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137. An agreement was entered into with the minor.
This is agreement is:

(a) Void

(b) Voidable

(c) Bad

(d) lllegal

137.3799%% & AT FIAT 9147 ST § :
(v) =a¥

(@) =TT

(&) T

(@) IRePrETT

138. Where both the parties to any agreement are
under a mistake as to a matter of fact essential to
the agreement,

(a) The agreement is voidable.

(b) The agreement is valid

(c) The agreement is void.

(d) The agreement is not void.

138. gl fFd) st & &t 9a7 wa=ld F fow
HTEYH a2 & e A H acdt W §,

(a) Se@ TEAT F

(b) BEXT A &

(c) 3ga =T gl

(d) 3gud =Ty @l B

139. The consideration must be:
(a) Adequate

(b) Must be adequate

(c) Need not be adequate

(d) Substantially adequate

(@) gITeT g & ariew
(T@Y) TATTT gIAT 3TARTH el &
@) IR & ¥ gIATCT gl A1gy:

140. The consideration may be:
(a) Past

(b) Present

(c) Future

(d) All the options are correct.

140. gfawer g @&ar &
(@) &

(b) AT

(c) #AfasT

(d) @ fasheu @er €

Solution 136 to 140

Solution 136:-
(d)

Explanation:

A cooperative society is an independent relationship of people joined intentionally to meet their normal

monetary, social, and social necessities and yearnings through a mutually possessed endeavor.
FgHR fATT 3 NI &1 U FdT §6Y § S IREIRE &7 § U 30 9a17 & ATA § A9A AT Hifg,
AR 3R FAAF HGRASAHT AR FTSTH FT W A & AT SAefgre MiFrer g0 &l

Solution 137:-
(a) Void

Solution 138:-
(c) The agreement is void.

Solution 139:-
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(c) Need not be adequate

Solution 140:-
(d) All the options are correct.

141. A wagering contract is .........c....... whereas a 141. UF T FAMA TTAT HATH .oveevvreerenrrnne dar ¢
contingent contract iS.........ccceeerueunne. . TG TF IFTHRAF HTTT AT T oo il
(a) Void/valid (a) =y, Y

(b) Valid/void (b) Ay, =g

(c) Valid/voidable (c) e, oA

(d) Voidable/valid (d) cEdei, dur

142. The Auditor of a Government Company is 142, . TR FFaAl F et A @AgFa srgar
appointed or Re-Appointed qAfagidd ST §

(a) By the Central Government

(b) By Comptroller and Auditor General of India (CAG
of India)

(c) By the Shareholders of the company

(d) By the Central Government on the advice of the CAG
of India

(a) Fog TSR carT

(b) HRA & AT Td Agrer@r gliatsh (CAG) ¢arT
(c) FFIeAT & FAUTRAT gaRT

(d) AR & CAG & Follg W dheg AR GaRT

143.The
Secretary as one of the

Companies Act recognizes Company
(a) Senior management

(b) Key Managerial Personnel

(c) Executive management

(d) Board of Directors

143; Fuet FAATA Fuet IR =
TH & W9 A AT a1 §

(a) IS gaHT

(b) ST FeRT i

(c) FEISRRT JaeraT

(d) e Aser

7

144. How many years the land/soit must be as
organic without using any prohibited chemicals and
other substances to qualify for organic certification?
(@) 1 year
(b) 2 year
(c) 3 years
(d) 4 years

144. A yAONHIOT & AT IHgaT I°d FA F QAT
it oft gfaef@a s 3 3= verat &1 3uer feo
e /st fraa vt a= Sfaw & @ifew?

(@ 1 ay¥

(&) 2 arer

(& 3 grer

(&N 4 Frar

145. The company purchased cassettes in the
following three months

AR AT q

SteTa 200 20,000
A 1,000 60,000
AT 800 96,000

The company sold 1600 cassettes at the rate of

145. ABC &#uel & i #dlst & fAwafef@ad vor @
T F Fo

ATE A= L

SteTait 200 20,000
wadl 1,000 60,000
AT 800 96,000

FF0aY o 1600 Fae 100 ufa Fde i T ¥ 3T few.
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100 per cassette. If e weighted average method is
used, what will be the closing stock value?

af sRa sitwa wefa &1 3wk e ame, o sfeas
TIF FT AT FAT A0 ?

(A) 23,500 (A) 23,500
(B) 35,200 (B) 35,200
(C) 37,500 (C) 37,500
(D) 36,200 (D) 36,200

Solution 141 to 145
Solution 141:-

(a) Void/valid

Solution 142:-

(b) By Comptroller and Auditor General of India (CAG of India)

Solution 143:-
(b) Key Managerial Personnel

Solution 144:-
(c) 3 years

Solution 145:-
(B) 35,200

146. In deficit the gap between

expenditure and revenue is bridged by printing extra

financing,
paper money. The purpose of this strategy is
economic development. But if it failed, then this
situation arises

(a) Currency Contraction

(b) Demonetization

(c) Currency devaluation

(d) Inflation

146. e A Acq sgavyr & a7 3R ToET FT IR

srfaRea Fereh #qa1 omEt ged € | 59 IFa F1 =eT
mmaummwmg,mmm
3cqeet gl §

(a) T HF=A

(b) fasgdrenoT

(c) HeT HaHTT

(d) Far-FHf

147. Wherever we are, advertising is with us.' this
statement

(a) Prof. Happner

147. 'S8T F8) &H ¢, AT AR 91 §1' Ig FUT ¢
(a) 9. §9aIX &7
(b) ATEHT Zat T

(b) Watson Dunne (c) Ta=dea &1

(c) Winston (d) ST @1

(d) Borden

148. Selecting the best option among various | 148. AffieT RAFeal # ¥ Wafcaw [Few &1 TIT FET
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alternatives is called
(a) Planning

(b) Decision making
(c) Coordination

(d) Direction

HEATT &
(a) AT
(b) AU
(c) GH=aIA
(d) e

149. Which condition is not found in perfect
competition?

(a) Large number of buyers and sellers

(b) Thorough knowledge of Market Conditions
(c) Commodity Discrimination

(d) Complete Mobility of Resources

149. Fledl gem yot wfaaifrar & adt arft Sl 2
(a) sl @ fasharait r 3t dear

(b) STSIR GeM3fl & qoT ==

(c) a&q e

(d) @merst & ot arfereiierar

150. According to section 161(1) of the Companies
Act, the Annual reports of companies are required
to be sighed by whom?

(A) Auditor and Company Secretary

(B) Chairman and Company Secretary

(C) Managing Director and Company Secretary

(D) General Manager and Company Secretary

150. Fasit AT fr arr 161(1) F HTAR Feafaat
#r e Ralel W Fad gEaER gar raeds &7

(A) 3ieheTh dUT HFqeT afag

(B) 3reTeT (YITHT) dUT Hegsir dfa

(C) Us=trehry fIereh aar seder g

(D) SR HASK dUT FHF9T gRg

Solution 146 to 150

Solution 146:-
(d) Inflation

Solution 147:-
(b) Watson Dunne

Solution 148:-
(b) Decision making

Solution 149:-
(c) Commodity Discrimination

Solution 150:-
(A) Auditor and Company Secretary
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RPSC 1* Grade (Commerce) Chapter wise link
Lecture - 1= Ratio Analysis MCQ's
https://youtu.be/9 AQiLzrAGA
Lecture - 2 =Audit
https://youtu.be/C2tAF9R0leY
Lecture - 3 =Retirement Of Partners
https://youtu.be/Ng Wvk-5d4M
Lecture - 4 =Cash Flow
https://youtu.be/Ck1cEdimMo0
Lecture - 5 =Probability
https://youtu.be/r4YEAunVGrg
Lecture - 6 =Death of Partners
https://youtu.be/-c33syZmPXg
Lecture - 7 =Comperative& Common size
https://youtu.be/ xNVN1lalwg
Lecture - 8 =Indian Contract Act 1872
https://youtu.be/-ZzWbuSnAOU
Lecture - 9 =Dissolution of Partnership firm
https://youtu.be/iakGH4IsW1A
Lecture - 10 =Trial Balance & Rectification
https://youtu.be/bJAj2w9DKSsE
Lecture - 11 =Goodwill
https://youtu.be/1KokMn5T 30
Lecture - 12 =Depreciation & Provision
https://youtu.be/SIVYFFWkIw4
Lecture - 13 =Final Accounts with Adjustment
https://youtu.be/EoRISJKAYoU
Lecture - 14 =Introduction of Basic Partnership
https://youtu.be/-n9aC-hnhLU
Lecture - 15 =Accounting Concepts
https://youtu.be/MegGwNg8X0s
Lecture - 16 =Accounting Equarion
https://youtu.be/DQIN1Z2POXc
Lecture - 17 =Admission of New Partner
https://youtu.be/PeoquMpmyxs
Lecture - 18 =Journal
https://youtu.be/4MUNSr62nQo
Lecture - 19 =Subsidiary Books
https://youtu.be/iMXJUEW9SUE
Lecture - 20 =Ledger
https://youtu.be/Viji30EDOQbY
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Lecture - 21 =Capital & Revenue Expenditure
https://youtu.be/0Ckvv6dR820

Lecture - 22 =Trial Balance
https://youtu.be/GieeYdJIVgM

Lecture - 23 =Bank reconciliation statement
https://youtu.be/XJZCXnahvy8

Lecture - 24 = Non profitOrganisation
https://youtu.be/DAEmw09trHo

Lecture - 25 = Insurance Claim
https://youtu.be/ZKEAO172xdM

Lecture - 26 = Single Entry System

https://youtu.be/xTmwkBS-8f8

For more FREE& Paid Courses Download ‘Commerce Point App’
http://on-app.in/app/home/app/home?orgCode=yufjs

Like, Share & Subscribe Our Youtube Channel
https://www.youtube.com/channel/UCXNdWHmMZNa iNQD42zLJiOA

Follow us on Facebook
https://m.facebook.com/107693467764745/

Follow us on Instagram
https://www.instagram.com/commerce po...

Any Query/Doubt/Discussions /Suggestion Whatsapp us99280-86953

5 More Free Sample Papers For Purchasing Complete Sample Paper Booklet
Whatsapp at 99280-86953 Download Commerce Point App




